Matrix Method 3x3 September 01, 2023

Today's Plan:

Learning Target (standard): | will solve a 3 x 3 linear system using the
matrix method (row reduction).

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

Matrix Method (2x2) More Practice:
Dindependent(—5,—6)
2)independent(4,1)
3)indepedent(-3,0)
4)independent(—6,7)
5)inconsistent no solution

6)independent(2,—1)
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Solve using the matrix method.
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Solve using the matrix method.
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Solve using the matrix method.
—4x—-6y=-16
Sx+8y =22 -2 g
4-Giae) [ Eow ) o2
5% 28 g.22(7p L2
o, 3 _ )
N AT IR
oY \=Y
- .o .
independlant
(-2.4)
Solve using the matrix method.
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Solve using the matrix method.
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Assignment:

Matrix Method 3x3 #1-6
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